ASSEMBLY INSTRUCTION
INTERNATIONAL

GROUP NO.: 88100-0 ESSEX BR
ITEM NO.: 88111-0 HEADBOARD, 6/0-6/6 PANEL BED

FURNITURE MARKETING 88112-0 RAILS 6/0 PANEL BED
88113-0 FOOTBOARD, 6/0-6/6 PANEL BED W/ SLATS

DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Adjust leveler on
feet as needed

Component List

NO. Descriptions Q.ty Hardware List 1 (Packed Inside Headboard)
1 | Headboard(Packed Separately) 1 NO. Descriptions Qty
2 | K.D Left Foot(Packed inside HB) 1 A Hex bolt @5/16¥1—-3/47,Spring Washer 9w | 8
3 | K.D Right Foot(Packed inside HB) 1 5/16”Flat Washer 5/16"*16mm(OUT)

4 | Footboard (Packed Separately) 1 B [Allen Key —\| 1
5 | Side Rails(Packed Separately) 2

6 | Bed Slats(Packed inside Footboard) 4 Hardware List 2 (Packed Inside Footboard)
7 | Center Support Leg(Packed inside FB) | 8 | | NO. Descriptions Q.ty
8 | Leg(Packed inside FB) 2 C |CBS Screw M4*32MM sd |8

Cleaning Instructions : Clean using soft cloth Made in Viet Nam




ASSEMBLY INSTRUCTION
INTERNATIONAL

GROUP NO.: 88100-0 ESSEX BR
ITEM NO.: 88111-0 HEADBOARD, 6/0-6/6 PANEL BED

FURNITURE MARKETING 88102-0 RAILS 5/0 - 6/6 PANEL BED
88113-0 FOOTBOARD, 6/0-6/6 PANEL BED W/ SLATS

DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Adjust leveler on
feet as needed

Component List

NO. Descriptions Q.ty Hardware List 1 (Packed Inside Headboard)
1 | Headboard(Packed Separately) 1 NO. Descriptions Qty
2 | K.D Left Foot(Packed inside HB) 1 A Hex bolt @5/16¥1—-3/47,Spring Washer 9w | 8
3 | K.D Right Foot(Packed inside HB) 1 5/16”Flat Washer 5/16"*16mm(OUT)

4 | Footboard (Packed Separately) 1 B [Allen Key —\| 1
5 | Side Rails(Packed Separately) 2

6 | Bed Slats(Packed inside Footboard) 4 Hardware List 2 (Packed Inside Footboard)
7 | Center Support Leg(Packed inside FB) | 8 | | NO. Descriptions Q.ty
8 | Leg(Packed inside FB) 2 C |CBS Screw M4*32MM sd |8

Cleaning Instructions : Clean using soft cloth Made in Viet Nam




ASSEMBLY INSTRUCTION
INTERNATIONAL

GROUP NO.: 88100-0 ESSEX BR
ITEM NO.: 88101-0 HEADBOARD, 5/0 PANEL BED

FURNITURE MARKETING 88102-0 RAILS 5/0 - 6/6 PANEL BED
88103-0 FOOTBOARD, 5/0 PANEL BED W/ SLATS

DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Adjust leveler on
feet as needed

Component List

NO. Descriptions Q.ty Hardware List 1 (Packed Inside Headboard)
1 | Headboard(Packed Separately) 1 NO. Descriptions QY
2 | K.D Left Foot(Packed inside HB) 1 A [Hex bolt @5/16¥1—-3/4",Spring Washer | oa | g
3 | K.D Right Foot(Packed inside HB) 1 5/16”Flat Washer 5/16"*16mm(OUT)

4 | Footboard (Packed Separately) 1 B |Allen Key —\| 1
5 | Side Rails(Packed Separately) 2

6 | Bed Slats(Packed inside Footboard) 3 Hardware List 2 (Packed Inside Footboard)
7 | Center Support Leg(Packed inside FB) | 3 NO. Descriptions Q.ty
8 | Leg(Packed inside FB) 2 C |CBS Screw M4*32MM S |6

Cleaning Instructions : Clean using soft cloth Made in Viet Nam




INTERNATIONAL ASSEMBLY INSTRUCTION

ITEM NO.:

88107-0 NIGHT STAND

FURNITURE MARKETING

DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

-/

]

Component List
NO. Descriptions Q.ty
A Night Stand 1
B Legs 4

Cleaning Instructions : Clean using soft cloth

Made in Viet Nam




INTERNATIONAL

1M

FURNITURE MARKETING

ASSEMBLY INSTRUCTION

GROUP NO.: 88100-0 ESSEX BR
88105-0 CHEST, DRAWER

ITEM NO.:

DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Component List

NO. Descriptions Q.ty
A 5—Drawer Chest 1
B Legs 4

Cleaning Instructions : Clean using soft cloth

Made in Viet Nam




INTERNATIONAL ASSEMBLY INSTRUCTION

I I i M GROUP NO.: 88100-0 ESSEX BR

: TORT MARKETING ITEM NO.: 88109-0 DRESSER
FURNITURE MARKETING 22103.0 MIRROR

DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Component List

NO. Descriptions Q.ty

Double Dresser

Landscape Mirror

Support (Packed Inside Mirror)
Legs

=g Q|lwm| >
—_ | N =] =

Center Support Leg

Hardware List 1 (Packed Inside Dresser)
1 | JCBC Screw M6 X 35 M
Spring 1/4" + Flat Washer 1/4" X M19 {OUT} 8

2 | Allen key =\ 1

Cleaning Instructions : Clean using soft cloth




ASSEMBLY INSTRUCTION

GROUP NO.: 88100 ESSEX BR

STANDARD ITEM NO.: 88111 HEADBOARD, 6/0-6/6 PANEL BED
furniture 88102 RAILS 5/0 - 6/6 PANEL BED
GRAND DESIGNS 88113 FOOTBOARD, 6/0-6/6 PANEL BED W/ SLATS
DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Adjust leveler on
feet as needed

Component List

NO. Descriptions Q.ty Hardware List 1 (Packed Inside Headboard)
1 | Headboard(Packed Separately) 1 NO. Descriptions Qty
2 | K.D Left Foot(Packed inside HB) 1 A Hex bolt @5/16¥1—-3/47,Spring Washer 9w | 8
3 | K.D Right Foot(Packed inside HB) 1 5/16”Flat Washer 5/16"*16mm(OUT)

4 | Footboard (Packed Separately) 1 B [Allen Key —\| 1
5 | Side Rails(Packed Separately) 2

6 | Bed Slats(Packed inside Footboard) 4 Hardware List 2 (Packed Inside Footboard)
7 | Center Support Leg(Packed inside FB) | 8 | | NO. Descriptions Q.ty
8 | Leg(Packed inside FB) 2 C |CBS Screw M4*32MM sd |8

Cleaning Instructions : Clean using soft cloth Made in Viet Nam




ASSEMBLY INSTRUCTION

GROUP NO.: 88100 ESSEX BR

STANDARD ITEM NO.: 88111 HEADBOARD, 6/0-6/6 PANEL BED
furniture 88112 RAILS 6/0 PANEL BED
GRAND DESIGNS 88113 FOOTBOARD, 6/0-6/6 PANEL BED W/ SLATS
DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Adjust leveler on
feet as needed

Component List

NO. Descriptions Q.ty Hardware List 1 (Packed Inside Headboard)
1 | Headboard(Packed Separately) 1 NO. Descriptions Qty
2 | K.D Left Foot(Packed inside HB) 1 A Hex bolt @5/16¥1—-3/47,Spring Washer 9w | 8
3 | K.D Right Foot(Packed inside HB) 1 5/16”Flat Washer 5/16"*16mm(OUT)

4 | Footboard (Packed Separately) 1 B [Allen Key —\| 1
5 | Side Rails(Packed Separately) 2

6 | Bed Slats(Packed inside Footboard) 4 Hardware List 2 (Packed Inside Footboard)
7 | Center Support Leg(Packed inside FB) | 8 | | NO. Descriptions Q.ty
8 | Leg(Packed inside FB) 2 C |CBS Screw M4*32MM sd |8

Cleaning Instructions : Clean using soft cloth Made in Viet Nam




ASSEMBLY INSTRUCTION

GROUP NO.: 88100 ESSEX BR
ITEM NO.: 88101 HEADBOARD, 5/0 PANEL BED

STANDARD
furniture 88102 RAILS 5/0 - 6/6 PANEL BED
GRAND DESIGNS 88103 FOOTBOARD, 5/0 PANEL BED W/ SLATS
DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Adjust leveler on
feet as needed

Component List

NO. Descriptions ty Hardware List 1 (Packed Inside Headboard)
1 | Headboard(Packed Separately) 1 NO. Descriptions QY
2 | K.D Left Foot(Packed inside HB) 1 A [Hex bolt @5/16¥1—-3/4",Spring Washer | oa | g
3 | K.D Right Foot(Packed inside HB) 1 5/16”Flat Washer 5/16"*16mm(OUT)

4 | Footboard (Packed Separately) 1 B |Allen Key —\| 1
5 | Side Rails(Packed Separately) 2

6 | Bed Slats(Packed inside Footboard) 3 Hardware List 2 (Packed Inside Footboard)
7 | Center Support Leg(Packed inside FB) | 3 NO. Descriptions Q.ty
8 | Leg(Packed inside FB) 2 C |CBS Screw M4*32MM S |6

Cleaning Instructions : Clean using soft cloth

Made in Viet Nam




furniture
GRAND DESIGNS

ASSEMBLY INSTRUCTION

GROUP NO.: 88100 ESSEX BR
STANDARD ITEM NO.:

88107 NIGHT STAND

DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

-/

]

Component List
NO. Descriptions Q.ty
A Night Stand 1
B Legs 4

Cleaning Instructions : Clean using soft cloth

Made in Viet Nam




STANDARD

furniture
GRAND DESIGNS

ASSEMBLY INSTRUCTION

GROUP NO.: 88100 ESSEX BR
88105 CHEST, DRAWER

ITEM NO.:

DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Component List

NO. Descriptions Q.ty
A 5—Drawer Chest 1
B Legs 4

Cleaning Instructions : Clean using soft cloth

Made in Viet Nam




ASSEMBLY INSTRUCTION

GROUP NO.: 88100 ESSEX BR
STANDARD ITEM NO.:

. 88109 DRESSER
furniture 88108 MIRROR
GRAND DESIGNS
DEAR CUSTOMER,

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more persons during the assembly process.

Component List

NO. Descriptions

Q.ty

Double Dresser

Landscape Mirror

Support (Packed Inside Mirror)

Legs

=|g|Q|w| >

Center Support Leg

—_ | N =] =

Hardware List 1 (Packed Inside Dresser)

1 | JCBC Screw M6 X 35 M
Spring 1/4" + Flat Washer 1/4" X M19 {OUT}

2 | Allen key =\

Cleaning Instructions : Clean using soft cloth




	88100 ESSEX - MS @ AIs 1.pdf
	88100 ESSEX - MS @ AIs Model (2).pdf
	88100 ESSEX - MS @ AIs 3.pdf
	88100 ESSEX - MS @ AIs 4.pdf
	88100 ESSEX - MS @ AIs 5.pdf
	88100 ESSEX - MS @ AIs 6.pdf
	88100 ESSEX - MS @ AIs Model (7).pdf
	88100 ESSEX - MS @ AIs 8.pdf
	88100 ESSEX - MS @ AIs 9.pdf
	88100 ESSEX - MS @ AIs 10.pdf
	88100 ESSEX - MS @ AIs 11.pdf
	88100 ESSEX - MS @ AIs 12.pdf

